//Support-Resistance.mqg4

#property indicator_chart_window

#property indicator_buffers 2 : #property@a 7 ik

#property indicator_colorl Aqua
#property indicator_color2 Magenta |
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double Support[];

double Resistance[];

double Support_Point[];
double Resistance_Point[]; |
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false;
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extern int Calculate_Bars
int Calculated

bool Even_Number

int init()
{
IndicatorBuffers(4);

/] > —5 —DIEDEE
IndicatorDigits(MarketInfo(Symbol(),MODE_DIGITS));

[ A2—F—=)\y IT7—DA>FT VIR
SetIndexBuffer(0,Support);
SetIndexBuffer(1,Resistance);
SetIndexBuffer(2,Support_Point);
SetIndexBuffer(3,Resistance_Point);

[>T =8 —DSN)L
SetIndexLabel(0,"Support"); 4¢— ER

SetIndexLabel(1,"Resistance");

[ A220—F—DAFA)L
SetIndexStyle(0,DRAW_ARROW);
SetIndexArrow(0,159);
SetIndexStyle(1,DRAW_ARROW);
SetIndexArrow(1,159);
SetIndexStyle(2,DRAW_NONE);
SetIndexStyle(3,DRAW_NONE);

return(0);
3 ]
int start()
{

/BN EHIDF TV

if(MathMod(Calculate_Bars,2) == 0 && Even_Number == false)

{
Alert("Parameter must be Odd Number.");

Even_Number = true;

return(0);

b

//ETEEBREIDER
if(IndicatorCounted() == 0)

{
Calculated = 0;

b
else if(IndicatorCounted() > 0)

{
Calculated = 1;

b

switch(Calculated)
{
// 171 v OBEDEE
case 0:

for(inti = Bars; i >= 0; i--)
{
Support_Point[i] = NULL;
Resistance_Point[i] = NULL;

[[OIR—bSAELZRIASA 2 DALE
int Center_Index = MathFloor(Calculate_Bars / 2) + i;

int Lowest_Index = iLowest(NULL,0,MODE_LOW,Calculate_Bars,i);
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int Highest_Index = iHighest(NULL,0,MODE_HIGH,Calculate_Bars,i);

if(Center_Index == Lowest_Index)

{

Support_Point[Center_Index] = Low[Center_Index];

b
if(Center_Index == Highest_Index)

{

Resistance_Point[Center_Index] = High[Center_Index];

¥
b

| = Bars;

while(i >= 0)
{//*j/‘l‘i— ke %
if(Support_Point[i] '= NULL)
{Support[i] = Support_Point[i];
el?se if(Support_Point[i] == NULL && Support[i+1] > 0)
iSupport[i] = Support[i+1];
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if(Resistance_Point[i] '= NULL)
{

Resistance[i] = Resistance_Point[i];

b

else if(Resistance_Point[i] == NULL && Resistance[i+1] > 0)

{

Resistance[i] = Resistance[i+1];

break;
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case 1:

Support_Point[0] = NULL;
Resistance_Point[0] = NULL;

[[UR=bSAELSZREIASA 2 DALE
Center_Index = MathFloor(Calculate_Bars / 2);
Lowest_Index = iLowest(NULL,0,MODE_LOW,Calculate_Bars,0);

Highest_Index = iHighest(NULL,0,MODE_HIGH,Calculate_Bars,0);

if(Center_Index == Lowest_Index)

{
Support_Point[Center_Index] = Low[Center_Index];

b
if(Center_Index == Highest_Index)

{

Resistance_Point[Center_Index] = High[Center_Index];

b

for(i = Calculate_Bars - 1; i >= 0; i--)
{//b‘/Ti— A 7
if(Support_Point[i] '= NULL)
{Support[i] = Support_Point[i];
elze if(Support_Point[i] == NULL && Support[i+1] > 0)
iSupport[i] = Support[i+1];

[[LZAIRASA >
if(Resistance_Point[i] '= NULL)
{

Resistance[i] = Resistance_Point[i];

b
else if(Resistance_Point[i] == NULL && Resistance[i+1] > 0)

{

Resistance[i] = Resistance[i+1];

¥

break;

return(0);
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